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Time: Previous Score:

1x1l= 11 x12 = Wx1lz= 3x5= lx9= Txl=
lx5= lxd= 2x5= 4xl= 2x8= 4x5=
3xl= Ix 3= Fxld= Ind= 6xl= Ixll=
lx 4= 4x3= lx3= l1x 7= 4x9= Ing=
Sxl= Bx8= Sx53= 8xl2= dxl1= 2xll=
Wx3= Ex3= 1x1l = 2x1l = 11 x1l= 1x7=
SK3F axl= 1x5= Tx1= 1x9= lox5=
Bxl= 10x1l= Sxl= 6x5= 3x8= 8x1l=
3 xl= 9x3= dx1l0= Ix89= 4xd= 8x7=
llx 9= BxB= 6x1l = Wx7= Wx9s= 1W0x11=
llxl= l1x 3= l1x5= 2x 3= 4x1l= 8x5=
12 x5= 12x12 = Sxd= 12x 7= 12x9 = 12x1l=
2xl= Bx3= Gx1= lxld= lx1l0= Tx3=
2ud= 8 x1ll= 2xb= 2% 8= 2x1ld= Txb=
llx4= Ixd= S5x9= l2x 2= 2dx 4= lxe=
4xd= 4 x4= 4x6= 6x8= 4x10= 9x5=
Sx2= lox 2= 12x1= SxB= ixhb= Txll =
1%x4= Bxd4= 6xb= l2x 3= 6xld= Bx4=
1xd= gxld= 2 x 10 = Sxllb= lxB= Sxe=
1x8= 6x1l0= 12 x10= l2x 4= 8x1l0= Bx2=
lox 4= 9% 4= Ixld= 9xB= l2x 8= 8xb=
llx6= Ixb= Wxes= 3xds= 4x1l2= 9x10=
llx2= 6 x 12 = 5x12= ll1x 8= 11 x 10 = Bx8=
1x12 = 10 x 10 = lix 6= Tx10= 4x8= lox 8=




